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_ West Bengal State University
B.A./B.Sc./B.Com. (Honours, Major, General) Examinations, 2014
PART-III

HISTORY - Honours
Paper- VI
( New syllabus and Old syllabus )
Duration : 4 Hours Full Marks : 100

Candidates are required to give their answers in their own words as far as practicable.
The figures in the margin indicate full marks.

Ted TAPTEA (S ORI (@131 A1 |
A1 AAIfer sl (e |

( New syllabus )

‘Answer Question No. 1 and any four of the rest.
S AR 2P G O (F-(IIA BTAT e Oed e |

Group - A
e =
 E Answer any four of the following questions : 4 x5 =20
(- 51 2ired Ted e ¢
a) What do you know about the 'Declaration of Civil and Human Rights' ?
W& @ A5 Sz caRelea’ e & @RE 2
b) What is the 'Civil Constitution of the Clergy' ?
e A5l wiET [ 2
c) To what extent was the policy of terror in France justified ?
I TR o Fb! Ay feet 2
d) What do you know about the 'Decree of Karlsbard' ?
PG (TN F7~(0F [ S 2
€) How did the Zollverein foster German nationalism ?
(EETCoAIR P SN ST RIoRmME SRS Al ?
f) Write a short note on 'Little Napoleon'.

PY (AR -97 TR @36 F:Frg Bl o3 |
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g What were the principal differences between Pre-Marxian and Marxian
Socialism ?

AIF-NFW 8 T TSI N i A1y e 2

h) What was Welt politik ?
‘e s 6 2
Group-B
et -«
Answer any four of the following questions : 4 x 20 = 80

(A-(FI 51T 2rea Tad i 3

Did the philosophers have any impact on the outbreak and course of the French
Revolution ?

TFAA] Q2 vF @ Wil 2eur (e wfaeri Savie soif fes 2

What were the achievements of the Constituent Assembly ? Can the reforms of
this Assembly be characterised as essentially bourgeoisie ? 12 +8

R er ey & few 2 92 Tor AcwrefE [ e ol 914 sicafre sefee

What was the Continental System ? How far was it responsible for the downfall
of Napoleon ? 6+ 14

TR 9% S et 2 weoliferieg ofome o @2 Rz ol i fee 2

What led to the 1848 Revolution in France ? How would you assess its
importance in European history ? 10 + 10

T 1848 e {2 IfRe (4 ? AN 20T @3 awg@ e [Feia e
FAEA ? _
How did the process of industrialization in Europe differ from that in England ?

BRIEAPR PR fe ol 2Emiees (A 72 fee 2

Write a comparative analysis of the role of Mazzini and Cavour in the history of

Italian unification.

ol ATFR 2o MBI ¢ FIgiEa g wenE [esad s |

Give an account of the reforms of Czar Alexander-II. What were the major
limitations of his reforms ? 14 + 6

o1 TSR SErEeR-9a el «fFvy e | 92 Al agm ke & e 2

Evaluate the terms of Berlin Settlement ( 1878 ). Did the Treaty of Berlin satisfy
the Balkan Nationalist aspiration ? 16 + 4

Afdfa pfE (1878)-9a *Safea Ty I | PN TrSmORME AR (e & s
FACS (Al ?

How far Germany was responsible for the First World War ?

s e o) wia g el i fe ¢

i
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( Old syllabus )
Group - A
et =
| Answer any four of the following questions : 4x5=20
- (I B1A ered Tea e ¢ ‘
a) How would you define Orientalism ?
i+ fFeita bRt sige! e a0 2
b) How was the Brahmo Samaj different from the Prarthana Samaj ?
i S (A0 A1 A1 foia 72 ke 2
c) Why did the insurgent Santhals take up arms against the Dikus ?
RemiR} Aewrml (@ Mgma Reera SrgaRe T 2
d) What do you mean by the 'Safety-Valve theory' ?
‘CTEib-SleTe ©g’ e SisfH 6 @i 2
e) When and why did the Muslim League emerge ?
T 3% (I Al Al 1S ZfeE 2
) Bring out the significance of the Morley-Minto Reforms ( 1909 ).
SCE-TD! FTHR (1909 149 SIH Iy A |
g) What were the proposals of the Cabinet Mission ?
TZ i ewrefe & e 2
h) Mention two main objectives of the First Five-Year Plan.
A AANAS| sAfFTmaER 7 A4 TR SrEd 94 |
Group-B
4 e -4
Answer any four of the following questions : 4 x 20 = 80
: -G BT 2ire T i ¢
2. In what sense, do you think, the year 1818'usherled in the beginning of a new

phase in the history of India ?

S 1818 B SIATSA 20T 96 Tge JLoIF oAl FCAfRE 2
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How would you assess the role of Rammohan Roy in the cultural and social life
of Bengal ?

Qe AFOT ¢ AT SR AN A B! Wi FeICa e a3 2

What is meant by de-industrialisation ? Was there really de-industrialisation in
early colonial India ? 8+ 12

2

Evaluate the role of Western Education in fostering nationalist feeling in India.
SIS TISIORNT (od R Areore; i S sEre a6 |

How did the Aligarh Movement seek to reform Muslim Society in India ? Would
you call it modernist ? 12 +8

P SfFIe SIwE SO AT AMEE WFR  (GrfEE ¢ S & @3 SewEwes
HgfReernT are SfSRe T 2 -
Explain how the different social groups responded to the call of Non-

Cooperation movement. Would you support Gandhi's decision to withdraw the
movement ? 14 + 6

SR S Tl [{ifen Amfes (sl fFerm el e o an sw | e S
G2 SIHIE AR T (A MRS s 7w S 2

Analyse the relationship between nationalist politics and peasant movements in
India between 1917-1939.

1917-1939 AR TS AATFIE TIOAOAM] AGHINGA HFH ST FIF SNCHISAES
TS [{reEe a9 |

What was the impact of the Partition of India in 1947 on the society, economy
and polity of Bengal ?

F1%eTa e, SIS € AEIfore 1947-99 ©iFe ReiaEa & ae| «te ¢

Assess Jawaharalal Nehru's contribution to the emergence of a Parliamentary
system in independent India.

FEN SIS FALIT IAZR BLIE TSI (H2FA S AAIEADA T |




